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Pointing towards a photograph Mr. Ajit said,
“She is my father's wife’s son’s only sister.”
What iz the relation of the person in Lhe
photograph with Mr. Ajit 7

{a) Daughter

(b}  Mother’s sister

(¢} Cousin

(d) BSister

Three circles of radius 5 ¢m each, touch each
other. If the points of contact are P, @ and R,
then what is the area of the triangle PQR in
gq. cm 7
25,3
&
@ 358
4
253
2

@ 25J3

The right-angled triangle ABC is such that
2B = 90°. Point D is picked on BC such
that triangles ABC and DBA are similar.
If AB : BC =m : n, what is A ABC : A ABD,
where A denotes the area of a triangle 7

ia)

el

(a) n:m

(b} n?:m?

(e} (m4+n):n
(d) (m+n)2:n2

On a large ground, there iz a straight tall
vertical wall of length 28 m. A goat is tied to a
point on the ground which is at the middle of
the wall, using a rope. If the length of the
rope is 21 m, what is the area of the region
(in 8g. m) around the wall that the goat can

access 7

(a) 847
(b) 851
{e) 693
(d) 654

UPSC Exam -

El

EI

https://iasexanportal . com not es

A rectangular wall is divided into four squares
of equal size where there are two rows each
having two squares. The top left square is
coloured with green. If, including green, there
are three colours available and each square is
coloured using any one of these three colours
guch that no two adjacent squares get painted
with the same colour; then how many colour
combinations are possible 7

a) 2
by 4
e) -
d 8

Which of the following statements about
National Emergency igfare correct ?

1. A Proclamation of Emergency may be
made by the President only when the
security of India or any part thereof is
threatemed by war or external
aggression or armed rebellion.

2. The Government of India acquires power
to give directions to a State on any
matter.

3.  The Proclamation of Emergency does not
suspend the State legislature.

4. The Proclamation of Emergency can
continue for a maxmum period of six

months at a time only if approved by

regplutions of both the Houses of

Parliament.

Select the correct answer using the code given
below !

{a) 1only
(b} 1and?2only
(e} 1,2 and3only

(d) 2,3 and 4 only
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frferfies swaimem (i=tm) sifafen = fmm
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2Cu,0 (s) + Cu,S (s) —— 6Cu (s) + 50, (g)

Frafafas @ @ Fam: sEs R sTEEE +
&y # fparfter wiefs 1 we=f

(a) Cu(l) 3 Cu S S

(b) Cu 3 SO, % S

(c) Cu¥R SO,%0

(d) Cull)3f 80, % O
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Which one of the following statements with
regard to the impeachment of a Judge of the
Supreme Court of India is not correct 7

(a) A motion addressed to the President,
signed by at least 100 members of both
the Houses of the Parliament is
delivered to the Speaker.

(b) The motion is investigated by a

Committee of three (2 Judges of the
Supreme Court and a distinguished
Jurist),

(e) If the Committee finds the Judge guilty
of misbehaviour or that he suffers from
incapacity, the motion together with the
report of the Committee is taken up for
consideration in the House where the
motion is pending,

The Judge will be removed after the
Pregident gives hiz order for removal.

Which of the following are India’s G20

priorities ?

1.  Green Development

2.  Women-led Development

3.  Climate Finance

4,  Digital Public Infrastructure

Select the correct answer using the code given
below:

(a) 1and2only
(b) 1,2 and 3only
(¢} 3 and4 only

1,2,3and 4

FiAdl o e A
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Which of the following are the objectives of
SAARC ?

1. To promote the welfare of the peoples of
South Asia and to improve the quality of
life

2. To promote and strengthen collective
self-reliance among the countries of
South Asia

3. To contribute to mutual trost,
understanding and appreciation of one
another’s problems

4. To work towards ending cross-border
terrorism

Select the correct answer using the code given
below :

{a) 1and2only
(b) 1,2and3only
(e} 1,2 3and4
(d) 3and 4 only

Pure, demineralized water, free from all
soluble mineral salts is obtained by which of
the following method 7

(a) Passing water through microfiltration
membrane

(b} Calgon’s method

(e} Passing water through a cation
exchange and an anion exchange resin

bed

(d} By boiling

Consider the following redox reaction :
2Cuy0 (s) + CugS (s) —— 6Cu (g) + SO, ()

Identify the species among the following
acting as oxidant and reductant, respectively :

(a) Cull)and 8 of Cu,S
(b) Cuand S of SO,

(¢} Cuand O of 50,
(d) Cu(D) and O of 50,
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37 el § 8 FH-H wE E 7
(a) Hact 1,2 3304

(b) HFaA2, 8,435
(c) Fad3, 4,536
(d) FEA1,2 5316
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Which one of the following statements is not
correct regarding the setting of cement ?

{a) The addition of a small percentage of
gypsum (Ca50,) lengthens the setting
period of cement,

(b)  According to the colloidal theory, gels of

hydrated silicates are formed and when
these gels harden, the set cement loses
strength.,

{(¢) Trcalcium silicate is responsible for
initial setting of cement.

(d) Diealeium silicate and tricalcium silicate
are responsible for the final strength

which oecurs in about a year.

Which one is the most abundant of all the
elements on Earth ?

(a) Silicon

(b)  Aluminium
{e) Carbon

{d) O=xygen

Which one of the following metals does not

react with oxygen directly ?
(@) Ti

(b) Fe

(¢} Pt

d) Zn

UPSC Exam -
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Consider the following observations about the
largest stupa at Sanchi :

il Going by information availahle from the
inseriptions on the railings of the stupa,
the construction of part of one of its
gateways was financed by the Guild of
Ivory workers.

2. In its original early form, this stupa was
plain exeept for the stone railings and
the gateways, which were richly carved.

3.  The panels on the four gateways contain
seulptures only in the front and have no

sculptures on the rear side.

4. In 1918, when the stupa was discovered,
all of its four gates were intact but the

mound was in poor condition.

5. Art historians have established clear
connections between the sculptures of
the stupa with events described in
Jataka Tales.

8. War scenes have also been depicted in
these sculptures.

Which of the observations given above are

correct ?
{a) 1,2,3and4only
(b) 2,3,4and5 only

(c) 3,4,5and6 only

id) 1,2, 5and 6 only
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Which of the following pairs are correctly
matched ?

f fmrﬁpﬂﬂn { Event) (Tirme Period)

1. Prayag Prashasti 4th century CE
by Harishena

2. Chinese traveller 6th century CE
Fa Xian's Account

3. Mudrarakshasa of 5th century CE
Vishakhadatta

4. Harshacharita of 6th century CE
Banabhatta

5. Aihole Prashasti of T century CE
Ravikirti

6. Kavirajamarga of 8th century CE
Amoghavareha

Select the correct answer using the code given
below :

{a) 1,2 and3 only
{b) 2,3 and4 only
(@ 4,5 and 6only
(d} 1,3 and5 only

Which one of the following statements is
correct 7

(a) Brahmi, used for writing many Ashokan
inscriptions, shows local variations,
(b) The system of hieroglyphic writing was

developed in ancient Mesopotamia.

The system of coneiform writing
developed around 3™ millennium BCE
in Egypt.

An ancient script, KEharoshthi was
widely used in the southern part of
India.

(c)

(d)

Which one of the following activities was not a
part of the daily time-table for a King as
prescribed in Arthashastra 7

{a) Receive reports on defense

(b}  Visit the town incognito
ic) Receive revenue in cash
(d) Consult his Council of Ministers

UPSC Exam -
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Which organelle other than pucleus in
cukarvotic cells has its own DNA, ribosomes
and proteins ?

(a) Golgi

{b) Mitochondria
(e}  Lysosomes
(d} Nucleosomes

For protein synthesizs, the amino acids are

recognized and carried by

(a) mRNA

(b) snRNA
(¢) miRNA
(d) tRNA

In vertebrates, smooth endoplasmic reticulum
in cells of which organ plays a cruecial role in
detoxification of toxic compounds ?

{a) Spleen
(b} Intestine
(e} Kidney
{d) Liver

The rate of an enzyme catalyzed reaction
depends :

(a) wupon substrate concentration,
temperature and pH.

(b}  only on substrate concentration and pH,
but not on temperature,

(¢} only on pH and temperature, but not on
substrate concentration,

(d) only on temperature, but not on pH and

substrate concentration.

Download FREE UPSC E-BOOKS

=

[ CLICKHERE™ |



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for UPSC Exam -

23.

24,

25.

wH R wEeeE g EEE 8§ W 8,
Ay -

(a) e g # fawmm Fiar # o e
AT T FieEe § fEE fa g

(b) TERFE Wit FifEt § R, g
WIE 9ed HiEERs § =9 2 |

(c) *ErH ¥R TEweA oFl 9 AR 9E
Hifrai d foemm B # |

(d) W N TEEHEA gHl %had 99
wifvE i R AR

Fo fawm g #, el (weew) H
T A5t & "edt # | Tew e E, =6

F T T RIS F WY A w5
a8 A B |

T % U | wifEE 8§ Hied o W
% ferg femmy wewergol € |

fimT) T W A SEHTHISE B R |

fammat &t wF wheA (Fifon) Hoyften
2

(a)
(b)

{c)
(d)

el yeadly dren fem W SfEa o 2
FH W oW W §w e sk
E-Iees efegary i T 7

e R 9 g F faEm W A
% gU ga sftefie W

it gem R i frwfa =

w e IET 7 a9 9 ot %
srawil 3l oy Ieew@ A gig W

ia)

(b)

c)
{d)

https://iasexanportal . com not es

26. U WA = GRw s S § 9w

27.

wligm & | 7% oF-a7 foeed yefia & 7
SR Hge A, Fhg §TaH e § T
A e |, fohg =R Jqem J T8
YA Hge AT AR TG qH |

7 At Wae wger #, 7§ SANn gge §

(a)
(b}
(c)
(d)

feffes & & S99, 9 asgEen $
= gl gu® # 7

1. faoeh & @

2. TP 9T Ha&®

3. 10-adig f-8F (G-sec) Hfwer

#= fow T g W wE = oad I g

(a) Fad 1

(b} hae 13 2

(¢) T 23R 3

(d) 1,233

o wif e R A faEe #§ few st

2 offt 1o FEw & g wfvemw wifda st

2| Frefefes d§ @ s ad 2 7

(a) JuH FA WHA $ GDP w1 e &, fbg
wRa F1 T 9 e A @

(b) IEHT AT WA T A w1 R 2,
T wa H GDP & R 7 2

(c) IaH! I AT i GDP IR THE Ay
o & fm

@ 9 W A A 9RA Y GDP & fr R,
ERiR-ccakusicRe ioie ol

& Download FREE UPSC E-BOOKS

=

[ CLICKHERE™ |



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for

LF.::}

Both starch and glyeogen are made up of

glucose, however ;

{a) . starch is present in liver and glycogen is
present in red blood cells,

[h;] glycogen is made in animal cells, but
gtarch iz made in plant cells,

(¢} both starch and glycogen are present in
animal and plant cells.

{d) - both starch and glycogen are present in

plant cells omly.

In spme viral infections, number of platelets
are reduced quickly. Platelets are essential
because :

(a) they along with red blood cells carry

OXYEEr.

(b} platelets are important to carry food to

cells through blood.

ic) platelets remove carbon dioxide from

blood.

{d) platelets have a role in blood clotting.

The focus of the Second Five Year Plan was :

establishment of a sell-reliant and

self-generating economy with emphasia

(a)

on agriculture.

(b)  rapid industrialization with emphasiz on
4 the development of basic and heavy
industries,

removal of poverty and attainment of
self-reliance.

acceleration of food-grain production and
increase in employment opportunities
and overall productivity.

UPSC Exam -

26,

27.

28,

https://iasexanportal .conm not es

An Indian businessperson buys shares in a
British car company. This transaction will be
reflected in :

(a)

Balance of Trade, but not in Balanece of

Payments.

(b  Balance of Payments, but not in Balance
of Trade.

(¢}  both Balance of Payments and Balance
of Trade.

(d) neither Balance of DPayments nor

Balance of Trade.

Which of the following are High Frequency
Indicators of the Indian economy ?

L Power Consumption
2. IIP General Index
3 10-year G-sec yield

Select the
below.

{a}] 1only

(b} 1and2 only
(e)  2and 3 only
d) 1,2and3

correct answer using the code

Suppose an Indian citizen makes an
investment abroad and earns a positive return
on her investment. Which of the following is

corroct 7

(a) Her income is part of India’s GDP, but

not part of India’s national income.

(by Her income is part of India’s national
income, but not part of India’s GDP.

(¢}  Her income is part of both India’s GDP
and national income,

(d} Her income is neither part of India's

GDP, nor its national income,
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af§ RBI g amfim T4 P sgea gz
A B, A Aefemaw ° gey i amafd

(a) safafda @it |

(b) HE WU |

(¢) Hafg anf |

(d) T ITIR YU UL |

sy ot w1 g www Fefafga § @

SR ?

(a) TE T TgHEe 6 ST o T A R

(b) iared 399 % 35T @ AgASE § wEA,
gﬁﬁﬁﬁGﬂtﬂﬁmrﬁimhqsgﬁﬁ&ﬁﬁﬁ
|

(c) Wigell o HeA =60 % HUU JPT AEH
I B € |

(d) Y=t F IEESA | A B & |

I ® U Iepe foA wen @ e
5 yafed @1 & | 9EiE W ge 92w
HEAE ?

(a) AN

(b) BEEA

(c) HEA SEHAFEES

(d) FESIH UrHES
o waredl § e JEA e & §E @

O T 9T 7
(a) EARITESATLIRTE
(b) A HHESE
(c) WA

(d) g

frdt ey wv 8 Fe acft =g & fom
o d o s ad 2

(a) TE UHHHAH 27 & 1 =T R |

(b) UE UHEAW =TeT o Tfd a1 ¢ |

(c) WE FTEWH =AU § e T g |

(d) % UHGHE a0 § uf w R

37.

34.

36.
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frelt fou o mrem ¥ 2kHz WP H TR
af? FT F e 35 om 8 | IW Wread # 36
21 km # glt 79 %3 § fohan wwg ewEm 2

@) 30

21s

30 s

41s

ia)
(b)
(c)
(d)

Frafafiaa # ¥ S S few 3 & oy
* e raw =7 gfiomm 2 7

(a) HA! T T

(b) TS T &

(c) ATEST T WA

(d) FEUEH 1 HEY

fr=ferfiga # & #9-a o 9= & S oA H
& il w1 o g & 2

(a) TR

(b) =ET-gEE

(c) EHT:ZT!IEE

) fa=

Frafafaa 4 & s, v & o = = Be
HEE TR, FHoeEia o HildE T & 2

a) =

aRIEY

(c) efteRIfe
(d) femmaEmem

yoft s grew wfedi A wed sfts fafagar
FEl 9TE A1 # 7

(a) St 5

TS 3R
ATH{EE AN T 9
Fomhieadia g ==

{a)
()

(a)
(b)
(e)
(d)
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99. If the Cash Reserve Ratio is lowered by the |34. A sound wave of frequency of 2 kHz has a
RBI, supply of money in the economy will : wavelength of 35 cm in a given medium. How
- & long will it take to travel a distance of 2:1 km
87" menmn dnotm g through the medium ?
(b) decrease. @ 808
)  increase.
{“ o ) 21s
{d) have ambiguous impact.
(c) 830s
30. Which one of the following is the main cause of d)y 41s
the acid rains 7
(a) The Sun causes heating of upper layer of | 85. Which one of the following conservation laws
atmosphere. is a consequence of the Newton’s third law of
(b) The burning of fossil fuels releases motion ?
oxides of carbon, nitrogen and sulphur (a) Conservation of energy
in the stmoephers. (b) Conservation of momentum
(¢) 'The electrical charges are produced due :
it S Sl (c) Cunservatflm of charge
(d) The atmosphere of the Earth contains (@ Canpptzpion ol mass
acids.
36. Which one of the following is a permeable rock
31. Biogas is considered to be an excellent fuel that allows water to pass through it ?
which burns without smoke. The main (a) Granite
eonstituent of biogas is : ). Tinantione
(a) methane ’
3k () Quartzite
{ ydrogen
ik (d) Sill
(¢) carbon dioxide
(d) hydrogen sulphide 37. Which one of the following is the deepest,
32. The depletion in atmospheric ozone layer in ;nl;nd?md protected port on the east coast of
last century was due to : el o
{a) chlorofluorocarbon () | Chanae
{b)  carbon monoxide (b) Paradip
(e} methane ()  Tuticorin
(d) pesticides (d) Visakhapatnam
33. Which one of the following holds true for a|38. The greatest diversity of amimal and plant
freely falling object ? species is found in
{a) It moves with a uniform velocity. (a) Temperate forests
(b) It moves witha unﬁurm speed. B Diosttkand Sur 4
(¢ t omoves with a mnon-uniform i :
itk {¢c) Arctic and Alpine systems
(d) It moves with a uniform acceleration. (d)  Tropical moist forests
v e
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41.

‘gafea’ % @ ¥ Fafefes 4 @ S v

@R

(@ T& Terdgfe (fe) fedi o faady
g # wifed (Weds) urE vEd & |

(b) 72 Hex T ° f¥m v ws # |

(c) 9B Uk A4 & |

(d) o8 foeaa d o whf w=w 2

Frfefign & & #9m e agh o # i
favm & 2 Jdnifis =y & fsfm o =
ElECil &

(a) AT - fie WERTG g
(b) I HeEH g Aw

(c) hﬁﬁﬂgﬁqﬂﬂﬁmﬁ

(d) It v wag wet

e fam e gz w1 vEm o f v fsmaed H

STER 9 HfY & v H vEEE A .

1. 399 FH IOHM YOG 91 HEIA: 3G ufEw
g e e ® o Y w # @ oy
1 e Hd B

2. 3fg w9 sfasm senfem S s 2, &
9 &= A wa @ A aeg-faf e e
Hehdl 2 |

3. ¥R "M B T woh o 2 el
FugaE wdt 8 ol denfiel w0 e
v feRn e & A 7 o s 2

+he

(a) ﬁl‘ﬁﬁ?ﬁi

(b) T HfY

(e) ﬁaﬁﬁ?ﬁf

(d) =TiE FiE

435.

https://iasexanportal . com not es

. HE A, FW B F g A, 5 75 60 km R G2

&1 =1t @ i = @ &, s fuife g0 5w
§ 1 = afts ot 2 | Il #w A ot ==
a8, A 7€ 39 20 w1 wR B F goE
d, it & 60 km 9 =2 B = & f = @
R, 1 92 uES 79 & g 2 | W A Foqm
=16 km WA HeT | feredft & 2

fa) 30

(b) 40

(e} 45

(d) 50

A dife et ef S ae w A, B 3t c o
Te o 7Y & oeh P aman 10238 1 9w
4 N 99 ga B E, 9 ot R w omeh Bl
FimEamamt gk adcgaw
¥ g B w2 2, 7= O 61 g0 o) = weh B
1 foe fame =1 wg =9 9

(@ 75

(b) 90

(c) 105

d 120

A wifay o gedt x ke Brsr & v e
g @ Foeehl aae anaw & arfs 5 =afe fed)
femm o am = w | Afy A gesht ) e
ﬁil’ﬁ ﬁmkm'{flﬁﬂﬁ'lﬁpf%,
% fou anwr foeg Rem A

2445

=
:
:
3
-
%

() & a1 ufeem fong et o foeam & i
(@) 13 o fafea

g x 3 y Rerfe sviw geant o # R
x o 3l ! IEEN-TGE B y T fEar s 2
ﬁx—y:ﬁﬁ%‘?ﬁxy'ﬁﬂm?ﬂ'l%?

(a) 1811

(b} 2701

(e} 4031

(d) 5603
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99. Which one among the following statements |42.
about ‘Drumlin’ is correct ?

{a) It is a streamlined hill moulded in
glacial drift on the till plains.

(b) Tt is a city located in central Europe.

fe) Itis ariver.

{d) Itis a narrow road in Tibet.

40. Which one of the following is the busiest sea 43.
route and links two industrially developed
regions of the world ?

(a) Mediterranean — Indian Ocean sea route
(b} The Northern Atlantic sea route

(c) Cape of Good Hope sea route

(d) The North Pacific sea route

41. Using the code given below identify the type of
farming on the basis of given characteristies :

1. 'The produce is consumed entirely or
mainly by the family who work the land
or tend the livestock.

2, I a small surplus is produced, it may be
zold or bartered.

3, It is generally small scale and labour
intensive with little or no technological
i t.
inpu Fon

Code :

ia) Extensive farming

() Intensive farming

{e) Subsistence farming

(d) Commercial farming

https://iasexanportal .com not es

Car A takes 1 hour more than car B, which
travels at a speed of 60 km per hour, to cover
some fixed distance. If car A had doubled its
speed, it could cover the distance in 1 hour
less time than car B travelling at 60 km per
hour. What is the original speed of car A in km

per hour ?
(a) 30
(b} 40
(c) 45
(d» 50

Suppose A, B and O are three taps fixed to the
hottom of a tank with draining capacity
1:2:3. When all three of them are on, it takes
1 hour to drain out the full tank. If A and C
are on but B is off, then how much time, in
minutes, will it take to empty out a full tank
of water 7

{a) 75
{(ky 90
(e} 105
d) 120

Assume that the Earth is a spherical ball of
radius x km with a smooth surface 2o that one
can travel along any direction. If you have
travelled from point P on the Earth’s surface
along the East direction a distance of nx km,
which direction do you have to travel to return
to P =o that the distance required to travel is
minimum ?

(a) Eastonly

(b} West only

{¢) East or West but not any other direction
(d) Any fixed direction

If x and y are two-digit prime numbers such
that y is obtained from x by interchanging its
digits and x — y = 36, then what is the value of
xy ?

(a] 1611
(b) 2701
fel 4031
(d) 5603
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HF 2 om YA 91 64 TA1 H WA 8 em
T diEl U B S W # | af e s
= Tl i s # = SR w w9 W %
ys3 ¥ Fere foran s 2, & s et 9w F
T gaee & 9n § Frefofen § @ s
T TE R ?

I8 92 O ok T #A% F e R |
TR FS O & TG A A TR |

T2 HS U4 % TS fnme ¥ Aw 7
AP HATHe

(a)
(b)
(e}

(d)

AT ¥ Fran s ggam & fiw @ (0SCR) &
T FeffEr d a s s ah & 0

1. ¥ g9, 7 ufern ofn smfen & g
57 291 fire & |

2. & @ e, dud A Uwdm, @Ee
EY IR Wt gEEm ¥ &9 §
eIt gt i fols 97 & R s
T eqd e # |

3. OSCE =l Wufas Ieieifica qidta &3 §
A1 & W R |

4. OSCE % fiofg & et # |

13 fow 0 5 1 e A v g

(a) *haed 137 2

(b) e 1, 23R 3

fe) 1,2, 334

(d) ae 33N 4
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48, FE (Quad) & = # F=fafas § &

FHAT/FAA FuF wE B8 2

. U8 W S W Wgg B, UM, WG,
sregfemn, quay i Wiy |

2, FEE F weE & fil sy weEm
uErayl duEE " R |

3. FEIE ¥ gEE 4 Hifas-19 I w s
FrisT wgE F1 e R |

F= fiw 0 e w1 w@ = wd 3w gfi
(a) oheel 1

(b) ad 13 2

(¢) Faaz23s

(d 1,233

49, T 7a i smEm # ved fee s &

50,

AYH T mar o 2
(a) WHE iR e sfafam, 1903

(b) HHE HEFER w1 WEw AR TRt
wfufsam, 1993

(e) uHE wfm wffEm, 1993

(d) wE sfsr S sfufas, 1993
fefiafga 4 & #=RA, g0 = 6
st war/smmd. 77 /% o

1.

2. FHA

3. Hfm

4. A

A1 faw 0 e # W@ o 3w gf
(a) Haw 133

(b) =aet13fiv 4

(e) Hae 13 2

d wae 2

-~
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Sixty-four cubes of sides 2 em each are
combined to form a cube of side 8 cm. If four of
the smaller cubes along the diagonal of a
surface are removed from the surface of the
large cube, which one of the following
statements about the surface area of this solid
object is true ?

(a) It is equal to the surface area of the
large cube.

(b) It is less than the surface area of the
large cube.

(¢) It is more than the surface area of the
large cube.

(d) Insufficient data

Which of the following statements about
Organization for Security and Cooperation in
Europe (OSCE) are correct ?

1. There are total 57 states from Europe,
Central Asia and America,

2. It offers a political
negotiations and decision-making in the
field of early warning, conflict
prevention, crisis management and
post-conflict rehabilitation.

forum for

3. OBCE has the primary responsibility of
providing military in the
European Region.

4 The decsions of OSCE are legally
binding.

gecurity

Select the correct answer using the ende given

below :

(a) 1andZ2only
(h) 1,2and3only
() 1,2,3and4
{(d) 3 and4only

UPSC Exam -
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Which of the following statements about Quad
is/are correct 7

1. It is a group of four countries, namely,
India, Australia, USA and France,

2 Maritime cooperation is an important
binding force among members of the
Quad.

3. The Quad members formed a working
group on COVID-19 vaccines.

Select the correct answer using the code given

below :

{a) 1 only

(b) 1 and2only
{c} 2 and3only
d) 1,2and3

The National Human Rightsa Commission was

established under the statute of :

(a) ‘The Protection of Human Rights Act,
1993

(b) ‘The Protection and Implementation of
Human Rights Act, 1993

() The Human Rights Act, 1993

(d}) ‘The Human Rights Commission Act,

1993

Which of the following is/are not# an official
language(s) of the United Nations 7

1.  Arabic

2. German
3. Spanish
4. Chinese

Select the correct answer using the code given
below :

fa) 1and3 only
ib) 1 and 4 only
(e} 1 and2only
(d) 2 only
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99 wEgAiERl § 9aie FHar 9 &1 fefy =
% i 9 yus FH & fo @ 6 9 e
S g o

(a) ToEA

(b) TerEm Fremdoy
(c) SATHLIFA
(d)

frfefes s d A S et & 2
(a) Uer famo 29 & |
(b) ety dfies 29 E |
(c) ﬁﬁha%aw@aﬁﬂaﬁﬁﬁﬁl

(d) =i Uetig § 39 UH 9% & w9 § HEA
T # )

fore, $uly, #iu ok ifm § odfts a=
SR ?

(a) AT

(b) ATEEITE

(c) EEEHH

(d) e

a1 geRfiss avw % oy fie & afufen @
- e 30w B R 7

(a) T

(b) Fiferm

(c) EEGNH

(d) mEISE

frdt wau & S Oie S FEnae (F1E)
FE AL | TE AT RTHTER ?

(a) Hifgam FamOsE

(b) wrfimm FeiiEs

(c) hicoam F=iree

(d) W e

e A™EET
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56. Tafeifas 4 @ 9w smm wm & &

517,

B9,

Tarett ¥ Hag 777 @17
(a) UHrET A=

(b) TR ST

(c) T

(d) TTETESE TN

Freferfen 4 & fee ‘Ssfaaael’ & w9 4 w0
ST 1 ?

(a) %ﬁ?ﬁaﬁaﬂ

(b) TaTer B dgE

() waft, vAR

(d) ITTE TS ST

g1 F TR § gofem $ify ok g 5

= feu Tu e F1 wEm W wE I g
qai-1 G-I
(ETT E7eT) (FIH)

A. TR 1. 3 wew

B. et 2. TS

C. =hIeiE 3. dne

D. 4. wiEmm

L T
A B c D

(a) 3 1 2 4

(b) 4 2 1 3

(c) 4 1 2 3

d 3 2 1 4

gl 3 I oEel w1 fefafas F @

FHA TR FE GHle 787 8 7

(a) &gt a7 ¢ AT T

(b) 17 fsemiardl oiE  :  qEd] =R e
1z @i

(e) EfEe e U g

(d) g9 Ty : EENM T

23T

=
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The method used in separating a mixture of
two omiscible liquids having sufficient
difference in their boiling points is :

{a) Filtration

(b)  Solvent Extraction

()  Centrifugation

id) Simple Distillation

Which one of the following statements is
correct ?

{a] Allovs are mixtures.
(b}  Alloys are compounds.
(c)  Alloys are always made up of metals.

(d  All alloys contain carbon as one of their

components.

The common element in graphite, fullerene,
diamond and graphene is :

(a) Oxygen
{b) Nitrogen
ie) Hydrogen
{d) Carbon

The gas generated on reacting zinc with dilute
sulphuric acid 1s :

(a) Argon

(b} Helium
(e} Hydrogen
(d) Nitrogen

An agueous solution of a salt is known as
brine. The salt is :

(a) Sodium chloride
(b)  Potassium chloride
(¢} Calcium chloride
(d) Sodium nitrate

UPSC Exam -

56.

b7.

https://iasexanportal .conm not es

Which one of the following commissions was
not associated with public services in India ?

(a) Aitchison Commission

(b) Islington Commission

(¢} Lee Commission

(d) Radhakrishnan Commission

Whoe among the following was known as

‘Lokhitwadi’ ?

{a) Keshub Chandra Sen
(b} Gopal Hari Deshmukh
(e) M.G.Ranade

{d) Gopal Ganesh Agarkar

Match List-I with List-II and select the correct
answer using the code given below the Lists :

List-I List-11

(Harappan Site) (Location)
A. Nageshwar 1. TUttar Pradesh
B. Alamgirpur 2. Rajasthan
C. Kalibangan 3. Baurashira
D. Rakhigarhi 4, Haryana
Code :

A B C D

fa) 3 1 2 4
(b} 4 2 1 4
e} 4 1 2 3
d 3 2 1 4

Which one of the following pairs of books and
their authors is not correctly matched ?

{(a) Bandi Jiwan + Bachindranath Sanyal
(b) The Philosophy : Bhagwati Charan
of the Bomb Vohra
ic) Indian Unrest : Annie Besant
(d) Desher Katha  : Sakharam Ganesh
Deuslkar

Download FREE UPSC E-BOOKS

=

[ CLICKHERE™ |



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for UPSC Exam -

61.

ey Iores FE % w9 4 et yoonfes =

=l fafen 0 #g FoafEl & o frafafien

3 B /e b e e () /% 0

1. W A S, S e fig, @ v,
anfe

2. @ w1 Winifers fawn

3. il swd, =m R mm oAm aw
HEI-HEHE FH TH

4. Tafaw yor 3 genis #1 o

A= fa e Hz 1 WA W= wd s ghe

(a) aH 1

(b) 13K 3

(c) haw 234

(d) %ad 3

wee #, g gega: A ¥ frefafea fea
H2F & IIET W Gq1 B 9

(a) 991 A=A

) faefim

(c) Qﬂﬁftm

(d) T

wHiE qEd: T WA 8 a9 § 9 uw

it #t 9w d | ol o § ger

FHL TR 7

(a) T H T Th i T A E

(b) it # wHw o Fifled w8 g §

(c) THH F A T HiEET 3R E=E W
Fiferrd, g1 Bt & |

(d) @i § % Frfwend 76 Bl # |
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. wmEEEge, UM it = % e F fm

oo, ffEm o artw % demw 6
FEvTRa Al 8 | I8 s oo & aavft F
Hifea g 2 2

(a) fim

(b) wEATFHI
(e) el
(d) =Yg ™

. AW w0 A aed ong TREt § afFs

I a1 § | 97 T fo sean 2 o
(a) T @ ahifE o 2 ¥ R
b HwE & AffeE s 2 % R
(c) TG & Hiafm Hal 8% F fow
(@) Faefmt @ sfifes ot 23 % fi

. g wwe W veenfig 9 § = afine § o

(@) =] =49 AR 919 U9 % s e

(b) TY T g 9 ford &% & e wm
el 3R # frae gfg

(c) FR 9IE I WS R Gl vd aw
3un # faa i

(d) ITYH W | HIE 7@

1T w9 2022 - 23 H TeRE =Y FT HaEY T2
e Fafafea i @ s 2 o

(a) S & YA

(b) & 4G

(c) e SEEIE W =g
(d) werh (afEd)
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Which of the following is/are important
markers for the archaeologists to identify an
archaeological site as a ‘center of craft

production’ ?

1. Evidence of raw materials such as stone
nodules, whole shells, ete.

=

Geographical expanse of the site
3. Evidence of unfinished objects, rejects

and waste material
4.  Evidence of variety of pottery

Select the correct answer using the code given
helow :

{a) 1lonly
(h)
{c)
(d)

1 and 3 only
2 and 4 only
3 only

In humans, urea is mainly formed from the
metabolism of which one of the following
components of food ?

{a) Fatty acids
{b) Vitamins

{e} Amino acids
(d) Glucose

The lymph is mainly formed from the plasma
of blood and it surrounds the cells. The main
difference between blood and lymph is :

(a) Lymph does not contain red blood cells.

(b) Lymph does not contain white blood
cells.

{e)} Lymph contains both red blood cells and
white blood cells.

{(d) Lymph dves not contain any cells.

UPSC Exam -
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For the digestion of carbohydrate, protein and

fat, enzymes such as amylase, trypsin and

lipase are required. It is secreted into the
duodenum through :

(a) Bile

(b) Plasma

{¢) Lymph

{d) Pancreatic juice

Lactie acid is formed in the muscles during

pxercise or running. It is formed :

(a) togive extra energy from fat.

(b} to give extra oxygen from lungs.

{c) to give extra energy from glucose.

(d) to give extra energy from vitamins.

Fiscal deficit in the Union Budget means :

{a) the difference  between current
expenditure and current revenue.

(b} net increase in the borrowings of the
Union Government from the Reserve
Bank of India.

{c) the sum of budgetary deficits and the
net inerease in internal and external
borrowings.

{d) None of the above

Which one of the following is the largest

component of revenue expenditure in the
Union Budget 2022 — 23 7

(a) Interest payments

(b) Defense expenditure

(e}  Expenditure on healthcare
(d} Subsidies
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67. Tl 2w it Rl ggr sl Rfyat & vaigar| 70, v w0 hi awe sEd 0fd # oy = 10 cos wt 10
Frafafiga 4 & fr go=i g wiw 6 T 2 0 %Wﬁﬁﬁﬁﬁ%ﬂﬁﬁlﬂﬂt:%q{
1. e ffie ol smm w0 s HOT KT O R ORI 9 (TET WA S s
2. amifdm fifiet sl feef 5 =1 sgm =T 3 g)
3. smifem ffiEi 3 oDP# IR @ 10w
s i B R Fw diE TRE :;’ ;““’2
i a2
= feu e e =1 vEn = ud I g w
(a) had 133 71. UH R WY % 0 S 98 99F WO F e
b 1,2 33k4 ST R | 7S AR A Bl A w6 A e
B il T M
(d) haet 1,2 3N 4 WEM%?
(a) 1_15
68. T2 spferaren ¥ wft WM Awft wwE i sy F w4
e A afy w6, @ sdeavar § w7 4
F6 qe4 T A UL Fum A syafEfia /m | 5= E ;

2T i F9 FEd B 7

@) (B P ) sk 72. TEM #1 H, UF 3T gk 1 FH e an e

&1 3l W (axially) & S0 9T 2, frad

b)  (Fsft Fem 1) et 99 F I Y9 99 I wfigeh &
(e) Tiraeafimn =1 fataramg YA #2 H, TERT #1 i € i w0 deua
sl &, foare a7 6 ga @i gfior g9 qu A
A iR wfget & | W wed § Fefafea § @
8ot 9 et et o e st b e iy lesiis
69. &l TS -
(a) EFT wERT H g w1 fam faofs
fifeen argur @ v sifeE A 2 1w Al
b g ok RS B EREC [ SS—
(a) amiEE T4 B som (CRR) &l |
(b) witafs sl s SLR) (c) gﬁﬁﬁﬁﬁﬁﬁﬁﬁﬂmmqﬁ
(c) el &% smfema fify (cBR) @ ET g1 #, w9 # e am vaEreE
(d) wifafies S 3T (SBR) gt |
*‘-"*;) |
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67. Adeguacy of foreign exchange reserves of a 70. A simple harmonic motion of a particle
eountry is captured by which of the following is represented as, y =10 cos ot 10. The
hdiiioia acceleration of the particle at time t = % will
1. Reserves to import ratio be : {(symbeols here carry their usual meanings)
2.  Reserves to external debt ratio (a) 10w
3 Heserves to GDP ratio =
e 0O
4, Reserves to monetary aggregates & 10
Select the correct answer using the code "
below : 71. A wire of resistance R is cut into four equal
{a) 1and3 only parts. These parts are then connected in
parallel. If the egquivalent resistance of this
(b} 1,2,3and4 RV Ay, WY , S
combination is R, then the ratio ﬁ i8 :
(e} 2,3and4only :
(d) 1,2and 4 only T
T
68. If all the people of the economy increase the 4
proportion of income they save, the total value ) 4
of savings in the economy will either decrease (d) 18
or remain unchanged. This phenomenon is(72, [n experiment #1, a bar magnet is moved
known as : towarde a conducting wire loop axially, with
() Orowing ot the nilamets north pole facing the loop. Fu
experiment #2, the same process as in
(b} Crowding in experiment #1 is repeated except that the
G Parsidos of il south pole of the magnet faces the loop. Which
one of the following statements is true in this
(d) Paradox of prosperity context 7
(a) The direction of current in the loop will
69. The banks are required to maintain a certain be of opposite nature in both the
ratio between their cash in hand and total experiments,
assets. This ratio is known as ; (b} The direction of current in the loop will
G) Cash Besarve Rakio (CRI) be the same in both the experiments.
{e) No current will flow in either of the two
(b) Statutory Liquidity Ratio (SLR) .
experiments.
(¢)  Central Bank Reserve (CBR) (d) More current will flow in the loop in
(d) Statutory Bank Ratio (SBR) experiment #1.
v e
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73. F=fefEn § & #-a1, geit v dtan § gfads

4.

75.

=i Tt =T = R 2

(a) g2t & o AR

(b) Yt 1 HH HF TN

(c) EAT o A & T A THGRAT
(d) gt B 3= el & uneafes e

Freferfign weHi . A fifae

1. ©F P ad et — fay, v ek
ay%a%ﬂuﬂ{%m?}ﬁﬁwaaﬂﬁﬂm
LER

2. 4 gzl o wed 9 srerd) arey &= 0 @
T |

3. Tagl % aE SR T 1600 km T FMA
F1 WE * ¥ =G ° Faa 200 HE
gE 2

e e B B AR wA E o

() 1,233

(b) e 23 3

(¢) Hae 13 2

(d) aw 13 3

Fr=fafaa st o fomm Fifao .

1. T & = geow w9 Eed T %
9 fammm & |

2. $9 TH0 JEAN ¢ 99 % T H T @
21

3. WEHEETHE Feh o T wl g6

g = 8 |
4, WHH-TECH Teh Acellew & ad H
i frer ST gan €

I HYA § § FHE TE 8 2
(a) haw 132
(b) Hae 337 4
(¢) hEet 1,230 4
(d) a1, 230 3

Adl PO A R

https://iasexanportal .con not es

76. HA-1 & g1 & galfem Hifve ok gt 5

i

19 fau T gz % W W= gE I g
-1 ga-Il
(Fietsr (87)
T

A. B3l 1. M

B. A 2. i skt

C. qETH 3. I I

D. &% 4. zftqoft spdfEm

e

A B C D

(a) 2 1 4 3

by 2 4 1 3

(e} 3 1 4 2

da 3 4 1 2

dem (fme) & a1 @ F=fofes s =
fa=m #ifw -

1. #Hom w9 TE: SeeaeEEiE e
HET AT 8, T o gAad [[Haw 3N
TEIEE § 6 9 d 3 a6 & |

2. sierm wfiw, sedle T, sfefedisns
AR G % o T 1 |

3. dfvah oI =T # s9n (dieaw) afga,
ofiTa & AEE 8% 8 %0 2 |

IEEEHI f A IR T E 0
(a) e 130 2

(b) wheel 13N 3
Hae 2 3N 3

1,2 # 3

(el
(d)
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74,

75.

Which one of the following correctly explains
the change in seasons on Earth 7

{a) 'Tilt of the Earth’s axis

(b) Rotation of the Earth on its own axis

{¢) Revolution of the Moon around the Sun
{d) Interaction of the Earth with other

planets

Consider the following statements :

1. The Great Northern Plains are formed
by basins of three distinet river systems
— the Indus, the Ganga and the
Brahmaputra.

2. They arc one of the most densely
populated areas on Earth.

3. Between the Yamuna at Delhi and the
Bay of Bengal, nearly 1600 km away,
there is a drop of only 200 metres in
elevation.

Which of the statements given above are

correct 7

(a) 1,2and3

(b) 2and3only
(c) 1land 2only
{d) 1and3 only

Consider the following statements :

1. Many of the world's largest mountain
chains exist beneath the =ea.

2.  Some mountain chains are revealed as
island ares.

3.  The mid-oceanic ridges form the longest
mountain chains.

&, The mid-Atlantic ridge rises thirty-three
metres above the floor of the Atlantie.

Which of the statements given above are

correct ?

(a) 1andZ2only
(b) 3 and 4 only
(¢} 1,2 and4only
(d 1,2 and 3 only

UPSC Exam -
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https://iasexanportal .com not es

Mateh List-1 with List-TT and select the correct
answer using the code given below the Lists :

List-T List-11
(Temperate (Regian)
Grassland)
A. Prairies 1. Eurasia
B. Steppes 2. South Africa
C. Pampas 3. North America
D. Veldt 4, South America
Code :
A B C D
(a) 2 1 4 3
by 2 4 1 3
(IR 1 4 2
dy 3 4 1 2
Consider the following statements about
millets :

1 Millets are

climate-resilient erops because they can

often referred to as

grow on arid lands with minimal inputs

and maintenance.

2. Millets are a good source of minerals,
dietary fibre, antioxidants and protein.

3. Millets, including sorghum, account for
less than 3% of the global grains trade.

Which of the statements given above are

correct ?

(a) 1and?2only

(b} 1 and 3 only
{¢) 2and3only
d) 1,2and3
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g : omiet dia vy fedl qrew § @ &8

feremrmT 7 gy Fdam W Sl 8, 51 @ 9% siew
7 & ot i |

L2=14 A E I 0 U
e | 20 | 45 | 15 | 8 12

78, = % Feet g & fow, gew A 9 6 @ Rt
s i faemman 6t wifiar 249 & sfis 2 0
(a)
(h)
(c)
(d)

=] @ @n kA

79. =9 90 FH I fF =G 4, 39 A % w82

&1 witwmar ¥ & & 39 sfuean sw amEr
27
(a)

g
R

(b}

Y
—
-2

(e)

=
&

{d)

fo=
w0
=12 =3k =J|n -3|m

@

80. R 0" I “U” wiF ®9 @ 5040 W W F,
T 9 A B e § VI gu A, A g i,
¥ 91 DR AW H, enm cEr el sw s
22
ia) 11840
(b) 11600
(€ 11430
(@ 11340

https://iasexanportal . com not es

i S a, b 3 e F7 i e ded @
8 a+b+e=abe

Ffefen seat @ famm $ifsm -

1. a, b 3R c T WHIT 9164 Th GG HET
21

2. a, b 3N c TS 157 1 3 2 F A=
TE |

IWTE BT H B R w2/ o

(a) had 1

(b) a2

ic) 1311'(22:‘17&

(@ adAr 1, AE2

ht fopart s end ve ¥ W@ R e
e FR ST 5 IPHY ¥ 9TH AT R 3T
396 8 ? (el 1w & grogfon 7 o et )
(a) 4

(b) 5

(¢} 50

(d) 40

fFrefifias § & $m/F88 Fo= ot 3/3 2

1. WAEEd W gg wer v ufew B femd
9& SHEE &1 fee smguifes w0 @
& o 2 |

2. wfusm fwfem 3 &, 3= amg = H
T A G R R |

= fom e gz & W w ad I gh

(a) Had 1

(b) *haEw 2

(e) 13T 22

(d) 1,72
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Directions ; The next three items are based on a
survey on occurrence of vowels in a certain book

irrespective of whether they are in upper or lower

COse.

ml

79.

Vowel A E I ] 8]

Percentage 20 | 45 | 16 | 8 | 12

For how many pairs of vowels is the chance of
occurrence of any one of the two more than

34% in the book ?

(a) 4
b) 5
c) 6
d 7

Among the three vowels which occur
minimum number of times, what is the
percentage of occurrence of the letter that
occurs the maximum number of times among
them ?

: 6
(a) 42_=%
v

(b) 41?%

4
40 — %
() 2

2
(d) 39-%
7

If “0" and “U", irrespective of upper or lower
case, occur exactly 5040 times, then how many
times does the latter *E” occur in the book in
the upper or the lower case ?

fa) 11840
(b) 11600
e} 11430
d) 11340

UPSC Exam -

81.

82,

Suppose a, b and ¢ are three distinct natural
numbers such that a + b+ ¢ = abe,

Consider the following statements :

1. The arithmetic mean of a, b and ¢ is a
natural number.

2.  The harmonic mean of a, b and ¢ lies

between 1 and 2.

Which of the statements given above iafare
correct 7

{a) 1onmly

(b) Zonly

(c/ Bothland2
(d) Neither 1 nor 2

How many three-digit numbers are possible
guch that the difference between the original
number and the number obtained by reversing
the digits is 396 ? (no digit is repeated)

(a) 4

thy 5
(el B0
(dy 40

Which of the following statements is/are

correct ?

1. Population ageing iz the process by
which the share of the older population
becomes proportionately lesser.

2. In most of the developed countries, the
population in higher age groups has
increased.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢} Both1and2
id) Neither 1 nor2
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84, ‘ST TR & fore A (ACE) F W

i fofefes § & FR@/FRE 39 98
8/87

1. 39 9% (term) I FoEy 9REdT W I
g JhHeh HATA g iR R

21
2. uE v Ui Ty § oEfyg 2
(a) +had 1
(b) e 2
(c) 13 23+
(d) Fa1, T2

. “FeNEHE g A1F Tae #9918 7

1. 98 99 2030 T T HEA ot (e
d) fava &1 99 ym w9 ¥ B
w3 3T e feaaril @ and
A 0 % Fore ety w0 & |

2 ?ﬁmm&&am&ﬂmﬁw

|

A faw ¢ e w1 wEm w3 g

(a) “hael 1

(b) Hae 2

{e) laﬂtﬂﬂ‘ﬁ?

(d) a1, 72

. WHa9-2023 (KAVACH-2023) % &t &

Frafafan w8 @ saa/@0a ad /8

1. ¥E 9ig = gt i wn % oy
w well & wdt @ s B o dgw
w9 wiafa & |

2. WE R T ¥ feed F v AleTE
3 BPRD g1 |y &9 4 3y fiean
UG &1 T TR F1 359 2

I o M e # WM = ad 3w ghe

(a) Had 1

(b) et 2

(¢) 13T 22

(d JFdA 1,382
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FEaT He’ & Hed # fefrRaa § & s
w9 T 7T R0

(a) 38 = @t sfenafies Rewmst & fE
g0 3R offerwr Ry zu qmm F s,
F, gl ® wer s s e
e # |

59 HIA Bl 99 TR FT i HEd € |

3 afuenahe fadvad waEEm &
%ﬁ;wﬁﬁwmﬁmﬁﬁaﬁ

I

FIY 1 GIH YR A FIHT 8000 BCE

o e © 9N B § |

Frefofee # & s © gewis ey 77
22
{a)
(b}
(c)
(d)

s % et o, fiefafas oofifs 325
H o frawr sg@ fiea 2 2

(a) ZEUEY

(b) “hiemet

(c) HaAvIf
(d) ThieER

uHH urdE el & gl § fefafes st

T8 wH TE 77 0

(a) MEH % A9 AR Al IF T Rs
fég-aamht st 3 arlt fw |

(b) U WEERT 4 FAUew G F fawF

feru |

FY Hi & TRl 1 R, g i

auTel g it Rt & e @ |

(d 4 FIM FH % fowks IR 9wE o me
o % fafes wuai @ fiw &

(b}
ic)

(d)

OCP
CCE
NBP
BRW

{c)
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86.

Which of the following statements isfare
correct about  ‘Action for  Climate
Empowerment’ (ACE) ?

1. It is a term adopted by the UN
Framework Convention on Climate
Change.

2, Thiz term is
Agreement.

Select the correct answer using the code given

below :

related to the Paris

{a) 1anly

(b) Z2aonly

(¢c) Bothland2
(d} Neither 1 nor 2

What is ‘Climate Neutral Now” initiative 7

1. It encourages organizations and other
interested stakeholders to act now in
order to achieve a carbon neutral world
by 2030.

2. Tt derives
Agreement.

Select the correct answer using the code given

its aims from the Pars

below :

(a) 1lonly

(b) 2only

{e}] Bothland?2
{(d) Neither 1 nor 2

Which of the following statements isfare

correct about KAVACH-2023 7

1. It is a joint coordination committee of all
three wings of Indig’s armed forces to
protect India’s borders.

2. It is India’s national level hackathon
jointly launched by AICTE and BPRD to
tackle eyber threats.

Select the correct answer using the code given
below :

(a) 1lomly

ib) Z2only

{¢) Bothland?2
(d} Neither 1 nor 2

UPSC Exam -
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Which one among the following statements
with reference to the ‘Weolithic Period’ ia not
correct ?

{a) The characteristic features of the period
included ground and pelished stone
tools, agriculture, animal domestication
and pottery.

This peried is also known as the New
Stone Age’.

The characteristic features appeared
almost at the same time in various parts
of the subcontinent.

Earliest evidence of agriculture is found
from Mehrgarh around 8000 BCE,

(b)

{e)

(d)

Which one of the following is not a pottery
type ?

{a) OCP
(b} CCE
(¢} NEP
(d) BRW

Which one of the following political centers
finds a mention in Ashokan inscriptions ?

{a} Indraprastha
(b} Kaushambi
{e) Suvarnagiri
{d) Kandahar

Which one of the following statements with
reference to the ancient Indian coins is not
correct ?

ia) The Indo-Greeks issued the first coins
bearing the name and images of rulers.

ib) The Kushanas issued the first gold
coins.

(e} The Kushana gold coins were different
in weight from the coins issued by
contemporary Roman emperors.

(d) These Kushana gold coins have been

found from several sites in north India
and central Asia.

Download FREE UPSC E-BOOKS & _



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for UPSC Exam -

o1,

Y

s w5 &1 own % 91 o Trafafey w9 =

ﬁ?ﬂ{m:

1. o (4R =) 4 9 v f afmEiw
9 e 8 — MEYe (TReandt

#Ht), e (FEgE @) sk
afaomfia (gfmefi) |

2.  wH S R | wfwi = fafim aren
% FE 4 v fem e @, sl

T % fou aEn, smEedw + fau
e iR EfEonfa & fo smmamE |

I FA A @ FA /R w2/
(a) a1

(b) Had 2

(c) 13 23

(d) JITL T8 2

He fied=r § seTigarars 9%, Z9-GEaiET
ToTmTT el B ER T T R 7

(a) ST Soa e

(b) IhTE TEa

(e) U qEA

(d) e = I ft

e ¥ "W § Pefefes w9 w fEw
Hifam .

1. Wrd #, ¥ qAal o weere § g
|l £ |

2. vEAvHE uvd it e SEed et @
formss weg o arfireraw =g B 2

3, wUEH % 2T firll #1 7H waad F |
I FuA F A BN wd #/E
(a) THae 13T 2

FHae 2 3N 3

wae 130T 3

%99 3

(e}
(d)

94,
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ffafaa Fet o famm i .

1L yadE FA w1 I By sEeT %
e feran =1 wehen & @ gwe W we =
I {9 T, FY, T A aen F
fore fopen = W 2 |

2. Toga % 39 1= gmt &t qeen § el
FaT G4 wE= T A 2

3. M fEq 5 el 1 99 #g W™
a1 & foro Samm du9i w1 gg @ #

I weEt & FEmFRE wd 2/E

(a) A 1

() 1,233

(c) Thae 13N 3
(d) ae 2 3 3

. wha # e @ gifem iR sk g

4 fou me e 1 wEm W ad s g

g gatar

(ST (Far)

FH9T)
A, WiHEM FAYE 1. HAaW =NR |

AT WEA 3

dreaarfi
defeorft St ygu
e 91 ATIGH
foraa
WAATE HIE T
HomarE geeq 3
F! e

B. fiAmma s=wm 2.
C. 9189 $<=94 3.

D. T2 F494 4.

;e

(b}
(e)
(d) 2 1

virew giveT Bt [fae foadlis a9m yma &9
2004 TWME H I=AH <EEE W AU
Fraferfas 4 & frod dafim & 9

(a) 39 = I

(b) fimEm # fém & fawg afisn

(¢) = F1 AfHR

(d) 3w fa=Emm = wfiiwR

A
(a) 1
1
2

o

B
4
3
4
3

- S e
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92,

83,

Consider the following statements about the

practice of Vedic sacrifices :

1. The shrauta (Vedic sacrifices) involved
the use of three fires — the garhapatya
{householder's fire), ahavaniya
{offeratorial fire) and dakshinagni
{gsouthern fire).

2.  These fires were supposed to be placed
in pits of different shapes, ie., the
garhapatya to be square, ahavaniva to
be round and that of the dakshinagni,
rectangle-shaped.

Which of the statements given above is/are

correct 7

(a) 1only

(b} 2 only

(¢} Both land2

id) Neither 1 nor 2

Trans-Siberian Railway from St. Petersburg to
Vladivostok does rot run across :

(a) Altai range

(b) Caucasus mountains
(e}  Ural mountaing

{d) Ob and Yenisei rivers

Consider the following statements about

Barchans :

1. These landforms are found in Thar
desert in India,

2. The windward side has concave slope
with maximum height at the centre.

3. Two ends of the barchan are called
horns.

Which of the statements given above iafare
correct ?

{a) 1and2only
(k) 2and3 only
(c) 1and3 only
(@ 3only

UPSC Exam -
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Consider the following statements :

1. Geothermal energy can be used to
produce electricity or its hot water can be
used directly for industry, agriculture,
bathing and cleaning.

2. Nuclear energy is often cheaper than
some other sources of electricity.

3. Thermal power stations burn fossil fuels
to create steam to drive the turbines.
Which of the statements given above is/are

correct ?

(a) lonly

(h) 1,2and3
() 1and 3only
(d) 2and3only

Match List-1 with List-II and select the correct
answer using the code given below the Lists :

List-T List-IT
{Tnternational {There)
Conuvention)
A, Stockholm 1. Hazardous chemicals
Convention and pesticides in
international trade
B. Minamata 2. Persistent organic
Convention pollutants
. Baszel 3. Binding instrument
Convention Ol MEeTCUry
D. Rotterdam 4. Transboundary
Convention movement of
hazardous wastes and
their disposal
Code :
A B C D
(a) 1 4 3 2
b 1 3 4 2
e 2 4 3 1
d) 2 3 4 1

The Judgment of the Supreme Court in
Peoples” Union for Civil Libertiez v. Union of

Indic 2004 iz related to which of the
following ?

(a) Right to Shelter

{b) Right against Custodial violence

(¢} Right to Information

(d) Right to Speedy trial

7

.r..
‘A
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98.

100.

foafefigs d 4 S, 38 gesteo &
Heim & 2

(a) I YS9 o9 &I T e s s
(19748}

HW Iaen "isrge, Faegl @4H foaenn
AT (1976)

(c) &1l G77 MEf A 9 G (1978)
) 7 et I fue 77 (1978)

WA % SfeaW & dge0e 226 & ol I
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Which among the following deals with Habeas
Corpus ?

(a) State of Uttar Pradesh v. Raj Narain
and Ors. (1975)

Additionnl District Magistrate, Jabalpur
v. Shivakant Shukla (1976)

Mrs. Maneka Gandhi v. Union of India
(1978)

Nandini Satpathy v. P.L. Dani (1978)

(b
(cl

(d)

Which among the following statements
regarding the powers of the High Courts
under Article 226 of the Constitution of India
is not correct 7

(a) It can issue writs of habeas corpus,
mandamus, quo warranto, certiorari,
and prohibition.

Writs can be isaued to enforce any rights
conferred by Part-III and for any other
purpose.

This power can derogate the power
conferred on the SBupreme Court under
Article 32(2).

Writ can be issued to any authority
under its jurisdiction.

(b}

(e)

(d)

Which among the following is nof correct ?

(a) Legislation on criminal law, barring
exceptions, is a subject under the

Concurrent List,

Bankruptey and Insolvency are subjects
under the Concurrent List,

(b}

Inter-State trade and commerce is a
subject under the State List.

Banking is exclusively under the Union
List.

(c)
id)
‘Basel Convention’, ‘Rotterdam Convention’

and ‘Stockholm Convention’ relate to which of
the following ?

(a) Human Rights of Prisoners
(b) Management of Pollutants
(¢) Conservation of Wetlands
{d) Conservation of Rivers
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101. Which of the following is/are roi correct about

102.

103.

the Mother’s Absolute Affection Programme 7

1. Allows all pregnant women to absolutaly
free and no-expense delivery in public
health institutions.

2. Provides assured, comprehensive and

guality antenatal care.
Promotes undiluted focus on breastfeeding.

Provides medical and nutritional care to
severely acute malnourished children.

Select the correct answer using the code given
below :

4.
4:-

{a) 1,2and3only
(b) 2and 3 only
{¢c) 1,2and 4 only
(d) 3 only

Which of the following statements about the
Right to Information Act, 2005 is/are correct 7

3t There shall be not more than twelve (12)
Information Commissioners.

2, The Chief Information Commissioner
shall hold office for a term of five years,
3. The Chief Information Commissioner is

eligible for reappointment.
Select the correct answer using the code given
below :

(a) 1only

(b} 2only

(¢) 1and2only
(d) 1,2and 3

Who among the following was the first
pro-tem Speaker to be unanimously elected as
the Speaker of the Lok Sabha ?

(a) RabiRay

(b) Hiren Mukherjee
(e} Somnath Chatterjee
(d) P.A Sangma
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Consider the following statements with

reference to Jainism :

L Vardhamana Mahavira attained
Kaivalyajnana outside the town of
Jrimbhikagrama, on the banks of river
Rijupalika and in the field of a
householder named Samaga.

2. The state when the Karma particles
actually begin to flow towards the Jiva
to bind it iz known as Asrava,

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢} Bothland2

id} Neither 1 nor 2

Consider the following pairs with reference to

textiles in Southern India ;

(Tax) (Meaning)
1. Panjupeeli on cotton yarn
2, Nulayam on cotton thread
3. Tari kadamai on silk clothes
4. BSella on silk thread

Which of the pairs given above igfare correct ?

fa} lonly

(b) 1and 2 only

(e} 2,3 and4only

(@} 1,2, 3and4

Which one of the following animals does not
come under the category of four noble animals
(Maha-Ajaneya Pasu) carved on the round
drum {Anda-Phalaka) of the lion eapital at
Sarnath ?

(a) Deer
(b} Lion
e} Bull
(d} Horse
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The rtuler Vindhyashakti during the period
preceding the Gupta Age is associated with
which one of the following dvnasties 7

(a) Vakatakas
(b} Chalukyas
i¢)  Kalachuris
(d) Sungas

The ancient Indian medieal treatizge for horses
called Ashvashastra is attributed to which one
of the following persons ?

{a) Vagbhatta of the seventh century
(b} The sage Shalihotra

{¢) Bhartrihari of the seventh century
(d) Varshamihira of the sixth century

The celebrated group of poets in medieval
Mathura and Vrindavana ealled the
Ashta-Chhapa were the successora of which
one of the following medieval Bhakti Saints ?

{a)  Kabir of Benaras

(b) Chaitanya of Bengal
(e}  Guru Nanak of Punjab
(d) Surdas of Braj region

Consider the following statements about

Laterite soil found in India :

1. Laterite soil iz found in high altitudes of
Himalaya.

2. Ttis a very fertile =soil.

3 It iz a red colour soil due to presence of
iron oxide.

4. It is poor in Nitrogen, Potash and organic
matter.

Which of the statements given above isfare
correct ?

(a) 3 only

(b) 2and 4 only
(e} 3and4only
(dy 1,3 and4 only
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111. Which of the following statements about Ragi

erop grown in India is correct 7
{a) It is a millet crop grown in drier parts of

south India.

() It ie a Rabi crop sown between
November and March.

(¢) It is a rainfed crop grown on red, light
black and sandy loam soil.

{dy Tt is grown between 20 degree Celsius
and 30 degree Celsius of temperature
and 50 — 100 e¢m rainfall,

UPSC Exam -
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Which of the following soil formation process
takes place in Phumdis (floating fields) in
Loktak Lake of Manipur ?

(a) Laterization

(b) Podzolization

(¢} Gleization

(d) Calcification

Which one of the following statements is
correct about Spring tides 7

{a) High tide is higher than average high

112. Consider the following statements about rock tide and Low tide is higher than average
structure : low tide.
L Conglomerates are clastic sedimentary (b) High tide is lower than average high
rocks. tide and Low tide is higher than average
2, Slate iz a non-clastic sedimentary rock. Tow tide:
3. Graniteisa plut.un_rc @euusmh Gl Thah Gk 1 hights fhan sseanes High
4. Basaltis an extrusive igneous rock. tide and Low tide is lower than average
Which of the statements given above are Low tide.
correct ¥ , .
(a) 1,2 and3 only (d) High tide is lower than average high
tide and Low tide is lower than average
(b) 3 and 4 only R g
(¢) 1and 2 only
(d}) 1,3 and 4 only
116. Consider the following statements about IPL
113. Consider the following statements about ciclat o e
Ramsar Wetland sites in India : X
1. Gshirmatha is the habitat of Olive . Eﬂ;fﬁ“ ol SaNTRRaRTED) TYe
Ridley Turtles. i ;
2. Chilka lake is the habitat of Irrawaddy 2.  Chwmgi: =Sgper  Fngs —recalded
Dolphin as its flagship species. runner-up in five editions of the
3. Nalsarovar Wetland is also the habitat LORERATRS
of Indian Wild Ass (Khur). 3. On three occasions, the final was played
4 Tso Moriri Wetland is the habitat and abroad.
breeding ground of Black-necked Crane. Which of the statements given above is/are
Which of the statements given above are chckank
oy (a) 1,2and3
i Gy ib) 2and3only
(Y g and4only (¢) 1andZ2only
() 2and4only @ Bk
(d 1,2 3and4
v )
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Congider the following statements about
Khelo India University Games (KIUG) :

1 The first edition of KIUG was held in

Odisha.

2. The name of the mascot of the third
edition of KIUG was Jeetu.

3.  The first edition of KIUG was postponed
due to COVID.

Which of the statements given above is/are
correct 7

(a) 1,2and3
(hy 2and3only
(e} 1and2only
{(d) 3 only

Exercise Ajeya Warrior is a biennial training
event between the Indian Army and the army

of :

{a) Nepal

(h} United Kingdom

(e) Russia

(d) Japan

The journey of the First Phase of Sagar

Parikrama Yatra, an initiative of the
Government of India, was started from :

{a) Andaman and Nicobar Islands

(b} Maharashtra

ic) Karnataka

{d) Gujarat

The annual Kheer Bhawani Mela is vrganized
at:

(a) Kabaw Valley

(b} Kashmir Valley

{c) Dah Hanu Valley

{d) Upper Dibang Valley

UPSC Exam -
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NISAR satellite is manufactured jointly by
Indian Space Research Organisation and :

(a) Japan Aerospace Exploration Agency

(b) National Aeronautics and Space
Administration

(c)  Russian Federal Space Agency

(d) European Space Agency

‘Operation Kaveri’ is a rescue operation
launched by the Government of India to
evacuate Indian citizens who were stranded
in:
(a)
(b}
(c)
{d)

Kuwait
Ukraine
Afghanistan
Sudan

‘Rail Vikas Nigam Limited’ is a :

(a) Maharatna CPSE
(b) Navaratna CPSE
(e} Miniratna I CPSE
(d) Miniratna II CPSE

What are Airawat, Param Siddhi, Pratyus and
Mihir?

(a) Super Computers of India
(b} Battle Tanks of India

{(¢) Supersonic Missiles of India
(d} Indian Naval Ships

Which one of the following Indian Naval Ships
has recently concluded a  17,000-nm
trans-ocean intercontinental voyage 7

{a) INS Tarangini
(b) INS Mandovi
(e} INSWV Mhadei
(d) INSV Tarini
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on the Answer Sheet. In case you feel that there is more than one correct response, mark the
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